) 211 1/4"V/8 211 1/4tV8

- 3/8" FILLET

| 1w QUANTITY FOR
S — i il T T " | ITEM B | |_ |_ O F M AT E R | Al_ MARK | STANDARD ROD 344
cs44a  [IKIINE |0 ojo o] [ i o | [a[eclo[e[r
— 1 | BAR ROD 1 /4" THICK X 2 1/2" WIDE X 3-8 /2" LONG | — | —— il -1-1-|-
2 | BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 21" LONG — | — 11| 2]-|2]-
FOR HEAD ROD 344A ONLY; 3 | BAR ROD 11/4" THICK X 2 1/2" WIDE X 21" LONG — | — |-l -2]-]2
FOUR ITEM 12'S TO BE 4 | SPLICE PLATE — | — ] ]s
WELDED TO ROD AS SHOWN . . = . . s | STEEL CHANNEL S R 1 1 I B
|] | | [11 [T 1l T 7100 | 6 | FIBRE STRIP ANGLE 353C | GTS-0353Q 2| 2| 2|2|2]2
' r ) ! ! 7 | FIBRE CHANNEL 3538 | 6TS-03538 1| 1] 1|1]1 |1
8 | FIBRE BUSHING — | o1s-0353F| 4| 4] 4|4|4]|4
172" MNMUM IDENTIFICATION CHARACTERS AS S E M B |_ Y O F H E AD R OD GTS-0344A 9 | 3/4"-10 UNC SQ. HD. BOLT X 4 1/4" LONG C/W HEX NUT | — | GTS-1304/4 4| 4| 4|4| 4|4
FOR BACKRODS 344E & F TO BE STAMPED PLANLY ON NON-THREADED 10 GTS-0344B 10 | SPRNG WASHER FOR 3/4" DIA. BOLT — | ots1301 | 4| 4] 4|4]4]|4
ONLY, FOUR ITEM 12'S TO BE SIDE. yt Ve oy s n | 376" COTIER PN X +1/4" LONG — | — | 4|4 a]a]a]a
WELDED TO ROD AS SHOWN i 12 | PAD 7/16" THICK X 1 1/4" WIDE X 9" LONG — — 41 -] -|-|4|4
I
- e el ~
S44E Shth epejene AL NOTES:
1. ITEM 4 ALSO USED AND DETALED ON INSULATED ROD DRAWING NO. GTS-0341 A/D
R R I 2. AL HOLES SHALL BE DRILLED.
0 1 T i b 1] 1 I 3. THE USE OF ACETYLENE TORCH OR OTHER BURNING METHOD FOR THE CUTTING OR MAKING OF HOLES
} L , = , ' | IN THE MANUFACTURE OF SWITCH RODS IS ABSOLUTELY PROMIBITED.
GTS-0344C

% % % 4. WHEN REFERRING TO SWITCH RODS, DRAWING NUMBER MUST BE STATED AS GTS-0344 A, B, C, D, ETC.
FOR ASSEMBLY OF ROD 344C USE TWO OF ITEM 2

oy o B e o o o o 2 ASSEMBLY OF BACK ROD ©15-0344D 10 WDGHTE SPECELE T TR

FOR ASSEMBLY OF ROD 344E USE TWO OF ITEM 2 GTS_0344E
FOR ASSEMBLY OF ROD 344F USE TWO OF ITEM 3 GTS_0344F

1 4t
2 v

I I | I I
(11 INRAAY (T 111 NIRAY ﬁa‘
L Wi ! ! L vi2 ! ! _
ut ut
1174 MLD STEEL ROLLED BAR 11/4 MILD STEEL ROLLED BAR 1-5/32" DIA. HOLE—/ _{

+1/32

11/4" 1 1740132

+1/16

e 1-1/32" DIA. HOLES 1-1/16" DIA. HOLES e 1-1/32" DIA. HOLES 1-1/16" DIA. HOLES
+ _ A . ‘.T.L .
& DN |||||||||||||||% l"‘w | N DN R MATER|AL
- + Y Y Tt il ~ N % — BAR STOCK TO CONFORM TO THE LATEST REVISION OF AS.T.M. SPECIFICATIONS A36.
13 l—— | iR I—- | '\ CHEMICAL REQUIREMENT:
—= Jy B.S. WHITWORTH 6 THREADS PER Rl B.S. WHITWORTH 6 THREADS N VA
3yt INCH - 56 THREADS 3 1/2"11/32 PER INCH - 56 THREADS CARBON 0.27%
9 5/16111-1/16 9 9/16--1-1/16 MANGANESE 0.607% 0.907%
PHOSPHORUS 0.047
1-0 3/8"1V32 1-0 3/8"11/32 SULPHUR 0.057
1 | .05%
1-4 1/8"1V/32 1-4 1/8"11/32 SILICON 0.407
1
1-6 15/16"1/16 1-6 15/16"41/16 ALL METAL PARTS IN CONTACT WITH INSULATION SHALL HAVE SHARP EDGES & BURRS OR OTHER FOREIGN
/8 o £/ MATTER REMOVED BEFORE ASSEMBLING.
-3 46 DIELECTRIC REQUIREMENTS: DIELECTRIC TESTS SHALL BE MADE WITH THE INSULATION DRY. ASSEMBLED
334 INSULATED TRACK FITTINGS SHALL WITHSTAND FOR NOT LESS THAN SIXTY SECONDS AN INSULATED TEST
D E T A”_ O F |T E M 2 377 4132 OF 3000 VOLTS AC. WITHOUT FLASH OVER OR PUNCTURE BETWEEN ALL METALLIC PARTS & OTHER
3-8 12" 48 METALLIC PARTS INSULATED THEREFROM.
1 1 1 1
I VAN
I I r I
+—1 1/4%2 LD STEEL ROLLED BAR D E T A' L O F | T E M 1
s " < e 1/2" MLD STEEL CHANNEL METRIC CONVERSION: 1 inch=25.4 1 foot=304.8
3 RIV/32" DA HOLES .v 1-/16 DIA. HOLES V2" MLD STEEL SPLICE PLATE . — T“ ! MLD STEEL CHi : nch=25.4mm, oot=304.8mm|
S (S 2) “HHH |‘Hu'."”"HHHWHHHHHMM X“ HOLES 25/32" DIA. - - i 1 18/07/27| ADDED IMPERIAL TO METRIC CONVERSION NOTE
~ ; i i N ! —
a3 l__ | >\ \\,\ &b I :,_;: ” AN\ &b No. [ Date Revision By Approved
—— B.S. WHITWORTH 6 THREADS "
3 1/9"4V32 PER INCH - 56 THREADS rv2| e e / pv2| T | Standard INSULATED
e — - 3 S — -
10 7/161116 . " | SVBR. 3 iR VERTICAL SWITCH RODS
1 1 an U3 -] = S ] 100, 115, 132 & 136 LB. RAL
1 vand 6+1/32 ~ 2 6 +1/32
' o~
-5 11/32
1-5 | g 1/9nt1/32 8 1/9"41/32 Drawn MG Checked GGS Approved e
1-7 13/16" 1/16 g 17216 g 1/2V6 Management |
21 4V8 . ‘

4 =¢&=METROLINX

Date SEPT 15/2017 Plan Number o1 _0344 RV 4

DETAL OF ITEM 3 DETAL OF ITEM 4 DETAIL OF ITEM 5

REFERENCE: TS—0344G_R2 Sheet 1 OF 3



AutoCAD SHX Text
1"

AutoCAD SHX Text
3 1/2"

AutoCAD SHX Text
1'-0 3/8"

AutoCAD SHX Text
1'-4 1/8"

AutoCAD SHX Text
1'-6 15/16"

AutoCAD SHX Text
2'-11"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1/8

AutoCAD SHX Text
1-1/32" DIA. HOLES

AutoCAD SHX Text
B.S. WHITWORTH 6 THREADS PER 

AutoCAD SHX Text
INCH - 56 THREADS

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
MILD STEEL ROLLED BAR

AutoCAD SHX Text
1"

AutoCAD SHX Text
3 1/2"

AutoCAD SHX Text
10 7/16

AutoCAD SHX Text
1'-1 1/4"

AutoCAD SHX Text
1'-7 13/16"

AutoCAD SHX Text
2'-11"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1/8

AutoCAD SHX Text
1-1/32" DIA. HOLES

AutoCAD SHX Text
1/32

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1/32

AutoCAD SHX Text
MILD STEEL ROLLED BAR

AutoCAD SHX Text
DETAIL OF ITEM 2

AutoCAD SHX Text
DETAIL OF ITEM 3

AutoCAD SHX Text
1"

AutoCAD SHX Text
3 1/2"

AutoCAD SHX Text
9 9/16"

AutoCAD SHX Text
1'-0 3/8"

AutoCAD SHX Text
1'-4 1/8"

AutoCAD SHX Text
1'-6 15/16"

AutoCAD SHX Text
2'-10"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
MILD STEEL ROLLED BAR

AutoCAD SHX Text
DETAIL OF ITEM 1

AutoCAD SHX Text
1'-5"

AutoCAD SHX Text
PER INCH - 56 THREADS

AutoCAD SHX Text
B.S. WHITWORTH 6 THREADS 

AutoCAD SHX Text
3'-3"

AutoCAD SHX Text
3'-7"

AutoCAD SHX Text
3'-8 1/2"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/8

AutoCAD SHX Text
1/16

AutoCAD SHX Text
PER INCH - 56 THREADS

AutoCAD SHX Text
B.S. WHITWORTH 6 THREADS

AutoCAD SHX Text
1-5/32" DIA. HOLE

AutoCAD SHX Text
1/32

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1"

AutoCAD SHX Text
3 1/2"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
6

AutoCAD SHX Text
8 1/2"

AutoCAD SHX Text
9 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
4 HOLES 25/32" DIA.

AutoCAD SHX Text
DETAIL OF ITEM 4

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
=

AutoCAD SHX Text
=

AutoCAD SHX Text
1"

AutoCAD SHX Text
3 1/2"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
6

AutoCAD SHX Text
8 1/2"

AutoCAD SHX Text
9 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
DETAIL OF ITEM 5

AutoCAD SHX Text
4 HOLES 25/32" DIA.

AutoCAD SHX Text
3 13/16"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
0

AutoCAD SHX Text
2 13/16"

AutoCAD SHX Text
=

AutoCAD SHX Text
=

AutoCAD SHX Text
FOR ASSEMBLY OF ROD 344C USE TWO OF ITEM 2

AutoCAD SHX Text
FOR ASSEMBLY OF ROD 344D USE TWO OF ITEM 3

AutoCAD SHX Text
FOR ASSEMBLY OF ROD 344E USE TWO OF ITEM 2

AutoCAD SHX Text
FOR ASSEMBLY OF ROD 344F USE TWO OF ITEM 3

AutoCAD SHX Text
FOR BACKRODS 344E & F

AutoCAD SHX Text
12

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
6

AutoCAD SHX Text
4

AutoCAD SHX Text
9

AutoCAD SHX Text
5

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
12

AutoCAD SHX Text
FOR HEAD ROD 344A ONLY,

AutoCAD SHX Text
1/2" MINIMUM IDENTIFICATION CHARACTERS

AutoCAD SHX Text
1/2" MINIMUM IDENTIFICATION CHARACTERS

AutoCAD SHX Text
TO BE STAMPED PLAINLY ON NON-

AutoCAD SHX Text
THREADED

AutoCAD SHX Text
SIDE.

AutoCAD SHX Text
1/8

AutoCAD SHX Text
2'-1 1/4"

AutoCAD SHX Text
ASSEMBLY OF HEAD ROD

AutoCAD SHX Text
ASSEMBLY OF BACK ROD

AutoCAD SHX Text
GTS-0344A

AutoCAD SHX Text
GTS-0344B

AutoCAD SHX Text
GTS-0344F

AutoCAD SHX Text
GTS-0344E

AutoCAD SHX Text
GTS-0344D

AutoCAD SHX Text
GTS-0344C

AutoCAD SHX Text
344A

AutoCAD SHX Text
344E

AutoCAD SHX Text
3/8" FILLET

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
1

AutoCAD SHX Text
BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 3'-8 1/2" LONG

AutoCAD SHX Text
BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 2'-11" LONG

AutoCAD SHX Text
BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 2'-11" LONG

AutoCAD SHX Text
SPLICE PLATE

AutoCAD SHX Text
STEEL CHANNEL

AutoCAD SHX Text
FIBRE STRIP ANGLE

AutoCAD SHX Text
FIBRE CHANNEL

AutoCAD SHX Text
FIBRE BUSHING

AutoCAD SHX Text
3/4"-10 UNC SQ. HD. BOLT X 4 1/4" LONG C/W HEX NUT

AutoCAD SHX Text
SPRING WASHER FOR 3/4" DIA. BOLT

AutoCAD SHX Text
PAD 7/16" THICK X 1  1/4" WIDE X 9" LONG

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
NO.

AutoCAD SHX Text
353C

AutoCAD SHX Text
GTS-0353C

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
353B

AutoCAD SHX Text
GTS-0353B

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
GTS-0353F

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
GTS-1304/4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
GTS-1301

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
MARK

AutoCAD SHX Text
NO.

AutoCAD SHX Text
STANDARD

AutoCAD SHX Text
PLAN

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
QUANTITY FOR

AutoCAD SHX Text
ROD 344

AutoCAD SHX Text
BILL OF MATERIAL

AutoCAD SHX Text
CARBON

AutoCAD SHX Text
MANGANESE

AutoCAD SHX Text
PHOSPHORUS

AutoCAD SHX Text
SULPHUR

AutoCAD SHX Text
0.60%

AutoCAD SHX Text
0.27%

AutoCAD SHX Text
0.90%

AutoCAD SHX Text
0.04%

AutoCAD SHX Text
0.05%

AutoCAD SHX Text
MIN.

AutoCAD SHX Text
MAX.

AutoCAD SHX Text
ALL METAL PARTS IN CONTACT WITH INSULATION SHALL HAVE SHARP EDGES & BURRS OR OTHER FOREIGN

AutoCAD SHX Text
MATTER REMOVED BEFORE ASSEMBLING.

AutoCAD SHX Text
DIELECTRIC REQUIREMENTS: DIELECTRIC TESTS SHALL BE MADE WITH THE INSULATION DRY.  ASSEMBLED

AutoCAD SHX Text
INSULATED TRACK FITTINGS SHALL WITHSTAND FOR NOT LESS THAN SIXTY SECONDS AN INSULATED TEST

AutoCAD SHX Text
OF 3000 VOLTS AC.  WITHOUT FLASH OVER OR PUNCTURE BETWEEN ALL METALLIC PARTS & OTHER

AutoCAD SHX Text
METALLIC PARTS INSULATED THEREFROM.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
1  1/4"

AutoCAD SHX Text
9 5/16"

AutoCAD SHX Text
1  1/4"

AutoCAD SHX Text
1  1/4"

AutoCAD SHX Text
 CHEMICAL REQUIREMENT:

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1 1/2"

AutoCAD SHX Text
1/8

AutoCAD SHX Text
MAX

AutoCAD SHX Text
5/8" R.

AutoCAD SHX Text
1/8" R.

AutoCAD SHX Text
1/8

AutoCAD SHX Text
2'-1 1/4"

AutoCAD SHX Text
1-1/32" DIA. HOLES

AutoCAD SHX Text
1-1/16" DIA. HOLES

AutoCAD SHX Text
1-1/16" DIA. HOLES

AutoCAD SHX Text
1-1/16" DIA. HOLES

AutoCAD SHX Text
1/2" MILD STEEL CHANNEL

AutoCAD SHX Text
3/16" COTTER PIN X 1-1/4" LONG

AutoCAD SHX Text
1/2" MILD STEEL SPLICE PLATE

AutoCAD SHX Text
ONLY, FOUR ITEM 12'S TO BE

AutoCAD SHX Text
WELDED TO ROD AS SHOWN

AutoCAD SHX Text
1/8

AutoCAD SHX Text
2'-1 1/4"

AutoCAD SHX Text
1/8

AutoCAD SHX Text
2'-1 1/4"

AutoCAD SHX Text
FOUR ITEM 12'S TO BE

AutoCAD SHX Text
WELDED TO ROD AS SHOWN

AutoCAD SHX Text
ITEM 4 ALSO USED AND DETAILED ON INSULATED ROD DRAWING NO. GTS-0341 A/D

AutoCAD SHX Text
ALL HOLES SHALL BE DRILLED.

AutoCAD SHX Text
THE USE OF ACETYLENE TORCH OR OTHER BURNING METHOD FOR THE CUTTING OR MAKING OF HOLES

AutoCAD SHX Text
IN THE MANUFACTURE OF SWITCH RODS IS ABSOLUTELY PROHIBITED.

AutoCAD SHX Text
TO INDICATE SPECIFIC ROD REQUIRED.

AutoCAD SHX Text
WHEN REFERRING TO SWITCH RODS, DRAWING NUMBER MUST BE STATED AS GTS-0344 A, B, C, D, ETC. 

AutoCAD SHX Text
1.

AutoCAD SHX Text
3.

AutoCAD SHX Text
2.

AutoCAD SHX Text
4.

AutoCAD SHX Text
BAR STOCK TO CONFORM TO THE LATEST REVISION OF A.S.T.M. SPECIFICATIONS A36.

AutoCAD SHX Text
SILICON

AutoCAD SHX Text
0.40%

AutoCAD SHX Text
Date 

AutoCAD SHX Text
Rev

AutoCAD SHX Text
Plan Number 

AutoCAD SHX Text
REFERENCE: 

AutoCAD SHX Text
Sheet 

AutoCAD SHX Text
Drawn 

AutoCAD SHX Text
Approved 

AutoCAD SHX Text
Checked

AutoCAD SHX Text
No. 

AutoCAD SHX Text
Revision

AutoCAD SHX Text
Date 

AutoCAD SHX Text
By Approved

AutoCAD SHX Text
Standard 

AutoCAD SHX Text
VP Engineering & Asset        Management 

AutoCAD SHX Text
ADDED IMPERIAL TO METRIC CONVERSION NOTE

AutoCAD SHX Text
18/07/27

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
GTS-0344

AutoCAD SHX Text
SEPT 15/2017

AutoCAD SHX Text
1 OF 3

AutoCAD SHX Text
TS-0344G_R2

AutoCAD SHX Text
MG

AutoCAD SHX Text
GGS

AutoCAD SHX Text
INSULATED

AutoCAD SHX Text
VERTICAL SWITCH RODS

AutoCAD SHX Text
100, 115, 132 & 136 LB. RAIL

AutoCAD SHX Text
METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm


BILL OF MATERIAL D 34
ITEM MARK STANDARD ROD 344
NO. [ DESCRIPTION NO. PLAN G|H
| 1 BAR ROD 1 174" THICK X 2 1/2" WIDE X 3'-8 1/2" LONG — — 2|2
E$7 4@ 2 | SPLICE PLATE — — 111
VW 3 | STEEL CHANNEL - - 111
4 | FIBRE STRIP ANGLE — — 111
5 | FIBRE CHANNEL 353C GTS-0353G 2 | 2
z 6 FIBRE BUSHING 3538 GTS-03538 1 | 1
AS S E M B |_ Y O F H E AD R O D 5 4 4 G S 7 | 3/4"-10 UNC SQ. HD. BOLT X 4 1/4" LONG C/W HEX NUT | — | GTS-0353F 4 | 4
~ 8 | SPRING WASHER FOR 3/4" DIA. BOLT — GTS-1301 | 4 | 4
* 9 3/16" COTTER PIN X 1-1/4" LONG — — 4| 4
| | | | 1 1/2"-'.1/8 1/2" MILD STEEL CHANNEL
L 32 1/2" MILD STEEL SPLICE PLATE
11/4" MILD STEEL ROLLED BAR ; Y HOLES 25/32" DIA. - 4 HOLES 25/32" DIA.
© 1140 2% 1-1/32" DIA. HOLES A /_5/8" :
E. r / \_. Van \f\ a a I © I \
z, ( ) V% A N N " < A N A A
& A N ) N N % V%
- \% \% Il
o~ * 1n i‘V 32 L7 g N)_ /&
V32 - I': © I +1/32
" B.S. WHITWORTH 6 THREADS 3 /g V32 N ol L.
w +1/32 R - + 1 178" R.
KTy v PER INCH - 56 THREADS Bt 1732 ~ . o 3 o V32
Wt ©
3 8/16 - 8 1/2" £V/32 S 6" T3
1'-0 3/8" X | 9 1/2" +1/16 ~ g 1/2" +1/32
-4 1gn V32
1-6 15/16" +1° g 179" TV
20 V8 DETAIL OF [TEM 2 DETAIL OF ITEM 3
33" +1/16
3-7nEV32 N O —|— E S
3-8 1/ V8 ITEM 3 ALSO USED AND DETALED ON INSULATED ROD DRAWING NO. GTS-0341 A/D

D E '|' A| |_ O F |'|' E M F O R R O D 3 4 4 G (F O R M J S C |_ | |Z)> §: ?ll:lllt: :‘J(;EE%FS%LELTYBLEENDER%?CH OR OTHER BURNING METHOD FOR THE CUTTING OR MAKING OF HOLES

IN' THE MANUFACTURE OF SWITCH RODS IS ABSOLUTELY PROHIBITED.

4. WHEN REFERRING TO SWITCH RODS, DRAWING NUMBER MUST BE STATED AS GTS-0344G TO INDICATE
SPECIFIC ROD REQUIRED.
/SERRATIONS THIS SIDE M AT E R | AL
L

BAR STOCK TO CONFORM TO THE LATEST REVISION OF A.S.T.M. SPECIFICATIONS A36

} t CHEMICAL REQUIREMENT:
(O = S = O) i

MAX.
l CARBON 0.277
@ MANGANESE 0.607 0.907
SERRATIONS THIS SIDE PHOSPHORUS 0.047
SULPHUR 0.051
SILICON 0.407
ASSEMBLY OF HEAD ROD 344H

ALL METAL PARTS IN CONTACT WITH INSULATION SHALL HAVE SHARP EDGE & BURRS OR OTHER FOREIGN
MATTER REMOVED BEFORE ASSEMBLING.

DIELECTRIC REQUIREMENTS: DIELECTRIC TESTS SHALL BE MADE WITH THE INSULATION DRY. ASSEMBLED

\ \ | | | | | | ~ INSULATED TRACK FITTINGS SHALL WITHSTAND FOR NOT LESS THAN SIXTY SECONDS AN INSULATED TEST
~

U 1] bk fB}—L‘ =

1.1/4"

—
e —

11/4"
(—

OF 3000 VOLTS AC. WITHOUT FLASH OVER OR PUNCTURE BETWEEN ALL METALLIC PARTS & OTHER
METALLIC PARTS INSULATED THEREFROM.

UNIFIED THREAD FORM (UN)
8 THREADS PER INCH 1 5/32//'1/54

64 THREADS DIA. HOLE =
V'3 35" o ::’I METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm|
T e - 13/16"% V32 % o 1 N18/07/27| ADDED IMPERIAL TO METRIC CONVERSION NOTE
* :* [1 1/32" -0 "DIA. HOLE - ) :¢ No. | Date Revision By Approved
§ i a f/ (5 IIIlI||"""lIIIIIIIIIIIIIIIII = 4— Standard INSULATED
}4 ) NN i ) I VERTICAL SWITCH RODS
= 17/32'R 136 LB. RAL
o nt ut 1732
ot vi_ | 21 1//2_'*5 1/33/216,1: . 3 + 132 13/16 " Drawn MG Checked GGS Approved - Englm%%n "%nﬁsset
2o qort U 90°THIST .‘
! n* 1/32
e B 2&METROLINX
DETAIL OF ITEM 1 - FOR ROD 344H (FOR ROCKER CLIP) Dot SEPT 15,2017 PO NMBRTGIS 034y R
REFERENCE: TS—0344G_R2 Sheet 2 OF 3



AutoCAD SHX Text
1"

AutoCAD SHX Text
3 1/2"

AutoCAD SHX Text
9 9/16"

AutoCAD SHX Text
1'-0 3/8"

AutoCAD SHX Text
1'-4 1/8"

AutoCAD SHX Text
1'-6 15/16"

AutoCAD SHX Text
2'-10"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
MILD STEEL ROLLED BAR

AutoCAD SHX Text
3'-3"

AutoCAD SHX Text
3'-7"

AutoCAD SHX Text
3'-8 1/2"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/8

AutoCAD SHX Text
1/16

AutoCAD SHX Text
PER INCH - 56 THREADS

AutoCAD SHX Text
B.S. WHITWORTH 6 THREADS

AutoCAD SHX Text
1-5/32" DIA. HOLE

AutoCAD SHX Text
1/32

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1"

AutoCAD SHX Text
3 1/2"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
6"

AutoCAD SHX Text
8 1/2"

AutoCAD SHX Text
9 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
4 HOLES 25/32" DIA.

AutoCAD SHX Text
DETAIL OF ITEM 2

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
=

AutoCAD SHX Text
=

AutoCAD SHX Text
1"

AutoCAD SHX Text
3 1/2"

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
6"

AutoCAD SHX Text
8 1/2"

AutoCAD SHX Text
9 1/2"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
DETAIL OF ITEM 3

AutoCAD SHX Text
4 HOLES 25/32" DIA.

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 3'-8 1/2" LONG

AutoCAD SHX Text
SPLICE PLATE

AutoCAD SHX Text
STEEL CHANNEL

AutoCAD SHX Text
FIBRE STRIP ANGLE

AutoCAD SHX Text
FIBRE CHANNEL

AutoCAD SHX Text
FIBRE BUSHING

AutoCAD SHX Text
3/4"-10 UNC SQ. HD. BOLT X 4 1/4" LONG C/W HEX NUT

AutoCAD SHX Text
SPRING WASHER FOR 3/4" DIA. BOLT

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
NO.

AutoCAD SHX Text
353C

AutoCAD SHX Text
GTS-0353C

AutoCAD SHX Text
2

AutoCAD SHX Text
353B

AutoCAD SHX Text
GTS-0353B

AutoCAD SHX Text
1

AutoCAD SHX Text
GTS-0353F

AutoCAD SHX Text
4

AutoCAD SHX Text
GTS-1301

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
MARK

AutoCAD SHX Text
NO.

AutoCAD SHX Text
STANDARD

AutoCAD SHX Text
PLAN

AutoCAD SHX Text
G

AutoCAD SHX Text
QUANTITY FOR

AutoCAD SHX Text
ROD 344

AutoCAD SHX Text
BILL OF MATERIAL

AutoCAD SHX Text
CARBON

AutoCAD SHX Text
MANGANESE

AutoCAD SHX Text
PHOSPHORUS

AutoCAD SHX Text
SULPHUR

AutoCAD SHX Text
0.60%

AutoCAD SHX Text
0.27%

AutoCAD SHX Text
0.90%

AutoCAD SHX Text
0.04%

AutoCAD SHX Text
0.05%

AutoCAD SHX Text
MIN.

AutoCAD SHX Text
MAX.

AutoCAD SHX Text
ALL METAL PARTS IN CONTACT WITH INSULATION SHALL HAVE SHARP EDGE & BURRS OR OTHER FOREIGN

AutoCAD SHX Text
MATTER REMOVED BEFORE ASSEMBLING.

AutoCAD SHX Text
DIELECTRIC REQUIREMENTS: DIELECTRIC TESTS SHALL BE MADE WITH THE INSULATION DRY.  ASSEMBLED

AutoCAD SHX Text
INSULATED TRACK FITTINGS SHALL WITHSTAND FOR NOT LESS THAN SIXTY SECONDS AN INSULATED TEST

AutoCAD SHX Text
OF 3000 VOLTS AC.  WITHOUT FLASH OVER OR PUNCTURE BETWEEN ALL METALLIC PARTS & OTHER

AutoCAD SHX Text
METALLIC PARTS INSULATED THEREFROM.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
1  1/4"

AutoCAD SHX Text
 CHEMICAL REQUIREMENT:

AutoCAD SHX Text
1/32

AutoCAD SHX Text
3 13/16"

AutoCAD SHX Text
1/16

AutoCAD SHX Text
0

AutoCAD SHX Text
2 13/16"

AutoCAD SHX Text
=

AutoCAD SHX Text
=

AutoCAD SHX Text
1 1/2"

AutoCAD SHX Text
MAX

AutoCAD SHX Text
5/8" R.

AutoCAD SHX Text
1/8" R.

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1-1/32" DIA. HOLES

AutoCAD SHX Text
1-1/16" DIA. HOLES

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/8

AutoCAD SHX Text
1/2" MILD STEEL CHANNEL

AutoCAD SHX Text
1/2" MILD STEEL SPLICE PLATE

AutoCAD SHX Text
1

AutoCAD SHX Text
3/16" COTTER PIN X 1-1/4" LONG

AutoCAD SHX Text
ASSEMBLY OF HEAD ROD 344G

AutoCAD SHX Text
90°TWIST

AutoCAD SHX Text
UNIFIED THREAD FORM (UN)

AutoCAD SHX Text
8 THREADS PER INCH

AutoCAD SHX Text
64 THREADS

AutoCAD SHX Text
E10-00019

AutoCAD SHX Text
SERRATIONS THIS SIDE

AutoCAD SHX Text
SERRATIONS THIS SIDE

AutoCAD SHX Text
2'- 10"

AutoCAD SHX Text
ASSEMBLY OF HEAD ROD 344H

AutoCAD SHX Text
2

AutoCAD SHX Text
8

AutoCAD SHX Text
5

AutoCAD SHX Text
9

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1"

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
1'-3 3/32"

AutoCAD SHX Text
1'- 5 3/16"

AutoCAD SHX Text
 17/32"R

AutoCAD SHX Text
 13/16"

AutoCAD SHX Text
3"

AutoCAD SHX Text
5"

AutoCAD SHX Text
3'- 7"

AutoCAD SHX Text
± 1/8

AutoCAD SHX Text
3'- 8 1/2"

AutoCAD SHX Text
 5/8"

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
2 1/2"

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/16

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
+1/64

AutoCAD SHX Text
-0

AutoCAD SHX Text
1 5/32"    DIA. HOLE

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
1 1/16"

AutoCAD SHX Text
 13/16"

AutoCAD SHX Text
8"

AutoCAD SHX Text
1 1/32"    DIA. HOLE

AutoCAD SHX Text
+1/64

AutoCAD SHX Text
-0

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
H

AutoCAD SHX Text
1

AutoCAD SHX Text
DETAIL OF ITEM 1 - FOR ROD 344G (FOR MJS CLIP)

AutoCAD SHX Text
DETAIL OF ITEM 1 - FOR ROD 344H (FOR ROCKER CLIP)

AutoCAD SHX Text
BAR STOCK TO CONFORM TO THE LATEST REVISION OF A.S.T.M. SPECIFICATIONS A36

AutoCAD SHX Text
SILICON

AutoCAD SHX Text
0.40%

AutoCAD SHX Text
ITEM 3 ALSO USED AND DETAILED ON INSULATED ROD DRAWING NO. GTS-0341 A/D

AutoCAD SHX Text
ALL HOLES SHALL BE DRILLED.

AutoCAD SHX Text
THE USE OF ACETYLENE TORCH OR OTHER BURNING METHOD FOR THE CUTTING OR MAKING OF HOLES

AutoCAD SHX Text
IN THE MANUFACTURE OF SWITCH RODS IS ABSOLUTELY PROHIBITED.

AutoCAD SHX Text
WHEN REFERRING TO SWITCH RODS, DRAWING NUMBER MUST BE STATED AS GTS-0344G TO INDICATE

AutoCAD SHX Text
SPECIFIC ROD REQUIRED.

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
Date 

AutoCAD SHX Text
Rev

AutoCAD SHX Text
Plan Number 

AutoCAD SHX Text
REFERENCE: 

AutoCAD SHX Text
Sheet 

AutoCAD SHX Text
Drawn 

AutoCAD SHX Text
Approved 

AutoCAD SHX Text
Checked

AutoCAD SHX Text
No. 

AutoCAD SHX Text
Revision

AutoCAD SHX Text
Date 

AutoCAD SHX Text
By Approved

AutoCAD SHX Text
Standard 

AutoCAD SHX Text
VP Engineering & Asset        Management 

AutoCAD SHX Text
ADDED IMPERIAL TO METRIC CONVERSION NOTE

AutoCAD SHX Text
18/07/27

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
GTS-0344

AutoCAD SHX Text
SEPT 15/2017

AutoCAD SHX Text
2 OF 3

AutoCAD SHX Text
TS-0344G_R2

AutoCAD SHX Text
MG

AutoCAD SHX Text
GGS

AutoCAD SHX Text
INSULATED

AutoCAD SHX Text
VERTICAL SWITCH RODS

AutoCAD SHX Text
136 LB. RAIL

AutoCAD SHX Text
METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm


BILL OF MATERIAL

QUANTITY FOR
SERRATIONS THIS SIDE ITEM MARK' | STANDARD ROD 344
NO. | DESCRIPTION NO. | PLAN 1
T T 1 | BAR ROD H1/4" THICK X 2-1/2" WIDE X 23-1/2" LONG — | — 2| -
| | | . 1 | BAR ROD 174" THICK X 2-1/2" WIDE X 24-3/8" LONG — | — -l 2
/ 2 | SPLICE PLATE — | — 101
SERRATIONS THIS SIDE 3 | STEEL CHANNEL — | — 101
4 | FIBRE STRIP ANGLE 353¢ | 675-03534 2| 2
5 | FIBRE CHANNEL 3538 | 675-03538 1| 1
6 | FIBRE BUSHING — | oTs-0353d 4| 4
7 | 3/4"-10 UNC SQ. HD. BOLT X 4-1/4" LONG C/W HEX NUT | — | GTS-1304/k 4| 4
G T S O 3 4_ 4_| 8 | SPRING WASHER FOR 3/4" DIA. BOLT — | oTs-1301 | 4| 4
ASSEMBLY Ol_‘ HEAD RODS GTS OBL\_L\_\J 9 | 3/16" COTTER PIN X 1-1/4" LONG — | — 4] 4

NOTES

ITEM 3 ALSO USED AND DETAILED ON INSULATED ROD DRAWING NO. GTS-0341 A/D
2. ALL HOLES SHALL BE DRILLED.
3. THE USE OF ACETYLENE TORCH OR OTHER BURNING METHOD FOR THE CUTTING OR MAKING OF HOLES
IN THE MANUFACTURE OF SWITCH RODS IS ABSOLUTELY PROHIBITED.
4. WHEN REFERRING TO SWITCH RODS, DRAWING NUMBER MUST BE STATED AS GTS-0344 A, B, C, D, ETC

-
23-1/2+ 8 31 24-3/8% 18 ?l TO INDICATE SPECIFIC ROD REQUIRED.
LLLLLI L[] LI L] [ [
g g ! UNFIED THREAD FORM (UN) 8 g L
UNIFIED THREAD FORM (UN) 2 |y vt Q‘ % | s oo o
8 THREADS PER INCH 3] g s S| & THREADS PER INCH ey A e 1+ R 3
64 THREADS N s N\ Nl 64 THREADS 0 DT N
[T LTI n
| i il Wi % o] i W B opy]
{ | .
/32 R 212+ V32 IR 17/32 R l 2-12 + Uz IR MATERIAL:
13/16 + 132 15-3/32 + /16 13/16+ /32 2-3/32 _ 15-31/32 *uw

- + BAR STOCK TO CONFORM TO THE LATEST REVISION OF AS.T.M.
EF' 7-3/16% V32 34 32 REF. 18-1/16 + 132 SPECIFICATIONS A-36 FOR COMMERCIAL QUALITY HOT ROLLED BAR

DETAL OF ITEM 1 DETAL OF ITEM
FOR HEAD ROD 344 | FOR HEAD ROD 344 | posors 00w

MATTER REMOVED BEFORE ASSEMBLING.
DIELECTRIC REQUIREMENTS: DIELECTRIC TESTS SHALL BE MADE WITH THE INSULATION DRY. ASSEMBLED

OF 3000 VOLTS AC. WITHOUT FLASH OVER OR PUNCTURE BETWEEN ALL METALLIC PARTS & OTHER

1-1/2 V8 METALLIC PARTS INSULATED THEREFROM.
1/2 MLD STEEL SPLICE PLATE f— 1/2 MILD STEEL CHANNEL
; de HOLES 25/32 DIA. 58 R, 4 HOLES 25/32 DIA
© ':|‘
PN Y S S 5 - SN
I M
1 1132 L_ | © © 32 METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mml|
—_— % o> / 1_'» I__
3179 132 " = :\A//?X R. 3179 V32 1 |18/07/27| ADDED IMPERIAL TO METRIC CONVERSION NOTE
i = 5 ] No. | Date Revision By Approved
61132 A -2 6 11/32
o~
8-1/2 V32 8-1/2 11732 Stondord INSULATED
9-1/2 +1/%6 9-1/7 £V VERTICAL SWITCH RODS

DETA”_ Ol_— |-|-EM 2 DETAH_ Ol—_ |_|_EM 3 Drawn "~ Checked -~ Approved%m,m

S  5-METROLINX

Dote SEPT 15,2017 Plan Number o1s_0344 R 1

REFERENCE: TS—-0344G_R2 Sheet 3 OF 3



AutoCAD SHX Text
SPLICE PLATE

AutoCAD SHX Text
STEEL CHANNEL

AutoCAD SHX Text
FIBRE STRIP ANGLE

AutoCAD SHX Text
FIBRE CHANNEL

AutoCAD SHX Text
FIBRE BUSHING

AutoCAD SHX Text
3/4"-10 UNC SQ. HD. BOLT X 4-1/4" LONG C/W HEX NUT

AutoCAD SHX Text
SPRING WASHER FOR 3/4" DIA. BOLT

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
NO.

AutoCAD SHX Text
353C

AutoCAD SHX Text
GTS-0353C

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
353B

AutoCAD SHX Text
GTS-0353B

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
GTS-0353F

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
GTS-1304/4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
GTS-1301

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
-

AutoCAD SHX Text
2

AutoCAD SHX Text
-

AutoCAD SHX Text
2

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
MARK

AutoCAD SHX Text
NO.

AutoCAD SHX Text
STANDARD

AutoCAD SHX Text
PLAN

AutoCAD SHX Text
I

AutoCAD SHX Text
J

AutoCAD SHX Text
QUANTITY FOR

AutoCAD SHX Text
ROD 344

AutoCAD SHX Text
BILL OF MATERIAL

AutoCAD SHX Text
3/16" COTTER PIN X 1-1/4" LONG

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
BAR ROD 1-1/4" THICK X 2-1/2" WIDE X 24-3/8" LONG

AutoCAD SHX Text
BAR ROD 1-1/4" THICK X 2-1/2" WIDE X 23-1/2" LONG

AutoCAD SHX Text
CARBON

AutoCAD SHX Text
MANGANESE

AutoCAD SHX Text
PHOSPHORUS

AutoCAD SHX Text
SULPHUR

AutoCAD SHX Text
0.60%

AutoCAD SHX Text
0.27%

AutoCAD SHX Text
0.90%

AutoCAD SHX Text
0.04%

AutoCAD SHX Text
0.05%

AutoCAD SHX Text
MIN.

AutoCAD SHX Text
MAX.

AutoCAD SHX Text
MATTER REMOVED BEFORE ASSEMBLING.

AutoCAD SHX Text
DIELECTRIC REQUIREMENTS: DIELECTRIC TESTS SHALL BE MADE WITH THE INSULATION DRY.  ASSEMBLED

AutoCAD SHX Text
OF 3000 VOLTS AC.  WITHOUT FLASH OVER OR PUNCTURE BETWEEN ALL METALLIC PARTS & OTHER

AutoCAD SHX Text
METALLIC PARTS INSULATED THEREFROM.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
 CHEMICAL REQUIREMENT:

AutoCAD SHX Text
SILICON

AutoCAD SHX Text
0.40%

AutoCAD SHX Text
BAR STOCK TO CONFORM TO THE LATEST REVISION OF A.S.T.M. SPECIFICATIONS A-36 FOR COMMERCIAL QUALITY HOT ROLLED BAR STEEL CHEMICAL REQUIREMENT. 

AutoCAD SHX Text
ITEM 3 ALSO USED AND DETAILED ON INSULATED ROD DRAWING NO. GTS-0341 A/D

AutoCAD SHX Text
ALL HOLES SHALL BE DRILLED.

AutoCAD SHX Text
THE USE OF ACETYLENE TORCH OR OTHER BURNING METHOD FOR THE CUTTING OR MAKING OF HOLES

AutoCAD SHX Text
IN THE MANUFACTURE OF SWITCH RODS IS ABSOLUTELY PROHIBITED.

AutoCAD SHX Text
TO INDICATE SPECIFIC ROD REQUIRED.

AutoCAD SHX Text
WHEN REFERRING TO SWITCH RODS, DRAWING NUMBER MUST BE STATED AS GTS-0344 A, B, C, D, ETC. 

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
SERRATIONS THIS SIDE

AutoCAD SHX Text
SERRATIONS THIS SIDE

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
8

AutoCAD SHX Text
2

AutoCAD SHX Text
9

AutoCAD SHX Text
4

AutoCAD SHX Text
7

AutoCAD SHX Text
GTS-0344J

AutoCAD SHX Text
GTS-0344I

AutoCAD SHX Text
ASSEMBLY OF HEAD ROD

AutoCAD SHX Text
ASSEMBLY OF HEAD RODS

AutoCAD SHX Text
REF.

AutoCAD SHX Text
2 HOLES

AutoCAD SHX Text
UNIFIED THREAD FORM (UN) 8 THREADS PER INCH 64 THREADS 

AutoCAD SHX Text
=

AutoCAD SHX Text
=

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
8

AutoCAD SHX Text
± 1/8

AutoCAD SHX Text
2-1/2

AutoCAD SHX Text
DETAIL OF ITEM 1

AutoCAD SHX Text
DETAIL OF ITEM 1

AutoCAD SHX Text
FOR HEAD ROD 344 I

AutoCAD SHX Text
FOR HEAD ROD 344 J

AutoCAD SHX Text
1

AutoCAD SHX Text
3-1/2

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
6

AutoCAD SHX Text
8-1/2

AutoCAD SHX Text
9-1/2

AutoCAD SHX Text
1/16

AutoCAD SHX Text
DETAIL OF ITEM 2

AutoCAD SHX Text
2-1/2

AutoCAD SHX Text
1/16

AutoCAD SHX Text
=

AutoCAD SHX Text
=

AutoCAD SHX Text
1

AutoCAD SHX Text
3-1/2

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
6

AutoCAD SHX Text
8-1/2

AutoCAD SHX Text
9-1/2

AutoCAD SHX Text
1/16

AutoCAD SHX Text
DETAIL OF ITEM 3

AutoCAD SHX Text
3-13/16

AutoCAD SHX Text
+0

AutoCAD SHX Text
2-13/16

AutoCAD SHX Text
=

AutoCAD SHX Text
=

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1/32

AutoCAD SHX Text
1-1/2

AutoCAD SHX Text
+1/8

AutoCAD SHX Text
MAX

AutoCAD SHX Text
1/2 MILD STEEL SPLICE PLATE

AutoCAD SHX Text
15-3/32

AutoCAD SHX Text
17-3/16

AutoCAD SHX Text
344 I

AutoCAD SHX Text
13/16

AutoCAD SHX Text
±1/32

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
1-1/4

AutoCAD SHX Text
2-1/2

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
+1/64

AutoCAD SHX Text
-0

AutoCAD SHX Text
±1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/16

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
DIA.

AutoCAD SHX Text
23-1/2

AutoCAD SHX Text
1-1/32

AutoCAD SHX Text
2-3/32

AutoCAD SHX Text
 17/32

AutoCAD SHX Text
13/16

AutoCAD SHX Text
4 HOLES 25/32 DIA.

AutoCAD SHX Text
5/8 R.

AutoCAD SHX Text
1/8 R.

AutoCAD SHX Text
-1/16

AutoCAD SHX Text
1/2 MILD STEEL CHANNEL

AutoCAD SHX Text
4 HOLES 25/32 DIA.

AutoCAD SHX Text
REF.

AutoCAD SHX Text
2 HOLES

AutoCAD SHX Text
UNIFIED THREAD FORM (UN) 8 THREADS PER INCH 64 THREADS 

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
8

AutoCAD SHX Text
± 1/8

AutoCAD SHX Text
2-1/2

AutoCAD SHX Text
18-1/16

AutoCAD SHX Text
+1/64

AutoCAD SHX Text
13/16

AutoCAD SHX Text
±1/32

AutoCAD SHX Text
±1/32

AutoCAD SHX Text
1 1/4"

AutoCAD SHX Text
-0

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/16

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
± 1/32

AutoCAD SHX Text
2-1/2

AutoCAD SHX Text
1-1/4

AutoCAD SHX Text
DIA.

AutoCAD SHX Text
=

AutoCAD SHX Text
=

AutoCAD SHX Text
344 J

AutoCAD SHX Text
24-3/8

AutoCAD SHX Text
1-1/32

AutoCAD SHX Text
15-31/32

AutoCAD SHX Text
2-3/32

AutoCAD SHX Text
13/16

AutoCAD SHX Text
 17/32

AutoCAD SHX Text
Date 

AutoCAD SHX Text
Rev

AutoCAD SHX Text
Plan Number 

AutoCAD SHX Text
REFERENCE: 

AutoCAD SHX Text
Sheet 

AutoCAD SHX Text
Drawn 

AutoCAD SHX Text
Approved 

AutoCAD SHX Text
Checked

AutoCAD SHX Text
No. 

AutoCAD SHX Text
Revision

AutoCAD SHX Text
Date 

AutoCAD SHX Text
By Approved

AutoCAD SHX Text
Standard 

AutoCAD SHX Text
VP Engineering & Asset        Management 

AutoCAD SHX Text
ADDED IMPERIAL TO METRIC CONVERSION NOTE

AutoCAD SHX Text
18/07/27

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
GTS-0344

AutoCAD SHX Text
SEPT 15/2017

AutoCAD SHX Text
3 OF 3

AutoCAD SHX Text
TS-0344G_R2

AutoCAD SHX Text
MG

AutoCAD SHX Text
GGS

AutoCAD SHX Text
INSULATED

AutoCAD SHX Text
VERTICAL SWITCH RODS

AutoCAD SHX Text
METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm


	GTS-0344g-REV1-GTS-0344g 1 of 3.pdf (p.1)
	GTS-0344g-REV1-GTS-0344g 1 of 3

	GTS-0344g-REV1-GTS-0344g 2 of 3.pdf (p.2)
	GTS-0344g-REV1-GTS-0344g 2 of 3

	GTS-0344g-REV1-GTS-0344g 3 of 3.pdf (p.3)
	GTS-0344g-REV1-GTS-0344g 3 of 3


